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{\ ‘transactlon approach’ and cash balance approach’ ? S 10
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. ‘Discuss the Factor Endowment theory of trade in terms of abum\i?nce in

factor prlces and ‘factor abundance’. 10
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,Accordmg to H1rschman unbalanced growth can be through ‘Social
Overhead - Capltal (SOC)’ or Direct PrOductlve Activities (DP. A)-
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Cons1der a duopoly market, , r/

P=100—2Q,Mc=10andQ'=q1+q2.

WA
\}u\ & Where P : Market pnce |
N\ﬂ | - Q: Total output or the sum total of both firms’ output
Vo

q, & q Firm 1 and F1rm 2’s output respectlvely
MC: Margmal cost

Suppose Firm 1 is the market leader - and Firm 2 is the follower.
Firm 1 decides its output first and then Firm 2 takes its output decision.
Find equ111br1um output, price and profit of both the firms. - | 20

(b) aﬁmmﬁwmﬁaw ?ﬁwsﬁ%ﬁwmmm
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Do you think Firm 1 would have had the first mover advantage if it had
gone for the price adjustment ? Explain your answer. 15
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A competitive equlhbnum is both Pareto efficient and equltable Do you
agree ? Justify your answer. 1 5
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IS curve is the locus of equilibrium points In the commodity market.

?
What do the points above and below the IS curve signify ? 15
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Compare the deposit multiplier with the money multiplier. Is there any
impact on the money multiplier arising out b of massive use of credit and
debit cards ? J ustify your answer. '
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Discuss the effectiveness of the monetary policy in an open economy
with flexible exchange rate and perfect capital mobility. Will this policy
remain effective with fixed ex hanlge rate also while other things
remdin the same ? Explain. - @\y& ) e
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St the canons of taxatlon Do you think that direct taxes are less
rdensome than indirect taxes in generatmg equal amount of tax

revenue ? J ustlfy your answer. S . 20
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Give e onomie rationale for public expenditure on elementary education
erit good. S 15
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What will be the shape of the aggregate supply curve in the Class1cal
and Keynesian models ? Give detailed explanatlon
b |

Q3. (a)

15

20

(c)

15
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¢ Stating major gggumptions in the Kaldor model of digbribution, +//

Q establish that shgre of proﬁts in national i income depends on the ratio of

N m)réstment to total output Y= C4+1 S = PR 10
R
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Explam the quantitative methods o Cl'edlt control adopted by the

cent{al bank. i— 10
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?ﬂnder Partial equilibrium analys1s d1scuss the consumption and &
/x‘éf ue effects of tariffs. - 10
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Show that in Domar’s growth model in equllanum, path of investment

is exponential. 10
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With appropriate examples, discuss the. difference between the flow and

the stock concept of renewable resources. Can the availability of one of
these two resources be less for the consumptlon of future generations ?

Justify your answer. | 10
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18t do you mean by the warrante
. 44 . . ) i
g¢ Instability problem in Harrod’s 810

(b)/ MR R g0 waw wwew ¥ orid 4H A ITffirT amqfit % adt & st

PG BN o v opey frasfira 201 a1=Td BB srefoyareen % frepr =
HHHRY |

Following Arthuy Lowis, briefly state the sources of unlimited supply of

labour and explain the mechanism of development of a dual economy of
a less developed country, ol &
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Distinguish between Gender Development Index (GDI) and Gender

Empowerment Measure (GEM) in terms of their components and
constructions. 15

Q7. (a) qﬁw%%wﬂwﬁ%mﬁmmwﬁmwﬁ
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ether in Ricardian model, the theory of comparative
tually becomes a doctrine of comparative costs. 15
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Distinguish between nominal and effective rates of protection in
Standard Trade Model. Suppose

® nominal tariff on imported good j is 40%, 24

Q6.

d rate of growth ? Explain the knife
Wth mode], / x I

advantage ac

(b)

* tariff rate on input i is 40%,

® cost share of imported input i in the total cost of production of
commodity j is 0-5%.

Determine the effective rate of protection ang show that in this case
nominal tariff rate is equal to the effective rate of protection 20
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Stat - -

Dev:1 the functions of United Nations Conference on Trade and
- opmer}t (UNCTAD). Do you think that UNCTAD has been
uccessful in extending economic cooperation among the developing

countries ? Justify your answer.

(b) fyeprasfier 2o = ST b T Ww@mﬁw@wﬁm
%mﬁﬁgm%ﬁnaﬁ.wﬂﬂmﬁmm%?wmﬁﬁﬁw
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Why do developing countries rely on specifyihg a permissible level of
pollution gnd 1mpose it uniformly across all polluting units of the same

. Kkind? What are the problems assoc_iated with-such a control method ? 15
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